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20.Two chords AB and CD of a
circle with centre O intersect
at P. If 2APC = 40°. Then
the wvalue of £A40C +

£ZBOD is

frdt q@ & ar A AB 3k
cD, FrTaT FegF 0 &, WEW P
ﬁﬁgwaﬂaﬁ%mﬁ LAPC =
40° @, a@ 2AOC + .BOD &

AT Id15T?
a) 50° b) 60°
%80° d) 120°

| SSCCGL T2, 30 Nov 2016 | 3



3|. Two chords AB and CD of a

circle with centre O intersect
each other at P. If LAPC =
95° and 240D = 110°, then
£4BOC is:
0 g & TF ga # & foan
AB 3 cp, g P W TEH-gEY F
yfaeafed s & I z4PC =
95° 3R 40D =110° & @
£BOC &1 AT AT HifSA |

a) 65° b) 70°
£80° d) 60°

| SSC CGL, 05 Mar 2020 S1 | 4



22.Two chords AB and CD of a

circle with centre O, intersect

LBOC LAOD each other at P. If £AOD =
l, 100° and £ BOC = 70° then

— the value of ZAPC is
£BPC=LAPD o ¥z fig awr AR g@ A a
Y share AB 3R D TF g # fig

P W Fdl & 3N 2 AOD =
100° 3R 2 Boc=70° & @

LAPC =?
180-85=G5 a) 80° b) 75°
C c) 85° %95°

| SSCCGL, 5 Mar 2020 S1 | =



23. Two chords AB and CD of a circle
whose center is O, meet at the
point P and £AO0C = 50° 4 BPC =

D 110°. Then the value of 2BOD is
0 ¥g ﬁg gt T gq #r ar Shard
? ABaaTcoﬁw‘sﬁﬁquTﬁﬂ?ﬁ%
- i z40C =50°2BPC=110° ¥
D40 /BOD=?
A < a) 170 /f 90
7o c) 80 d) 60
o
&




24.

In a circle with centre O, a
diameter AB and a chord CD
intersect each other at E. AC and
AD are joined. If 2ZBOC =
48° and 2AOD = 100°, then
what is the measure of 2CEB?
% 0 F WY TH g H, UF AW
AB 3R wF & CD TF g@Y FE
W Fed g1 Ac 3 AD & =T
Sar g1 g «BOC =48 3R
£A0D =100°§, @ 2CEB &1 A9
FT 87

a) 72° H7ae

c) 78° d) 82°

| SSCCHSL03Ju|201953| 7



25. Let O be the centre of a circle and
AC be its diameter. BD is a chord
intersecting AC at E. Point B is
joined to C and D. If £LBOC = 50°
and £AO0D = 110°, then ZBEC =?
AT 0 UF Jq & $g § 3R AC
3WHT =41 §| ShaT BD, AC #) E
W wwde w3 Rg B, g
¢ 3R &g p & ST T ¥ af
£BOC = 50° 3R 240D = 110°
g, df 2zBEC =?
3/80° b) 70°
c) 55° d) 90°

|SSC CGLT1, 10 Jun 2019 S1 | 8
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36. A and B are two points on a circle with
centre O, C is a point on the minor arc
of the circle between points A and B.
The tangents to the circle at A and B
meet each other at a point D. If
2ADB = 25° , then ZACB (in
degrees) is equal to:

0 %g ad g W ar fawg A 3T B

ua g qﬁé:agmqwﬁqaﬁ
A 3R Bakaﬁirwﬁ?gﬁzﬁrc g
faeg A 3R B W g I Tt Y@
L0 #ﬁ@nwﬁﬂ?ﬁ%
Ife LADB=25° & a 2 &1
AT (37T H) AT B
a) 105 b) 100.5

102.5 d) 100

12
| SSC CHSL, 16 Apr 2021 52 |



27. ABCD is a cyclic quadrilateral. From
a point P outside the circle, two
tangents PA and PC are drawn on
the circle. If 2ZABC = 98°, then
what is the measure of ZAPC?
ABCD UF THW aqeer g1 I

qg () ¥ W uH g P &, g9 W a

D & TUe Y@¢ PA 3 pc @i s
g ; ¥ 3R z4BC =%98° g, a
LAPC T AT 4T 7
A‘ a) 14° b) 22°

C X2 /160 d) 26°

>

| SSCCPO, 13 Dec 2019 S3 13



28.AB is a chord in the minor
segment of a circle with centre O.
C is a point on the minor arc
(between A and B). The tangents
to the circle at A and B meet at a
point P. If LACB = 108°, then
£LAPB is equal to:
AB, %g O 91 g9 & oY JAw@s
# us Sfar B arer a9 (A 3R
B& &l¥) W TH cdl AR
B & T ¢ g7 # Tt @

P W fadt # aRk
£ACB = 108° g, @ 2APB &I
AT dd13T|

6° b)54°

c) 27° d) 18°

| SSC CGL T-2 2020 | 14




4. ABCD is cyclic quadrilateral
@ such that «B =104° . The
tangent at A and C meet at a

point P. What is the measure of
LAPC?

ABCD UF ThI °dHT @,
o «B=104° ¥ 4 3R C
w @ o Tt @w
=g g P W e
£APC FT AT fHa«r g7

a) 38° b) 26°

c)24°  Af28°

NS

| ICAR, 28 Feb 2022, 52 ]‘5
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ARP-= Gﬁqo-{—% 8= 90

Yo.In a circle with centre O, a

diameter AB is produced to a point
P lying outside the circle and PT is
a tangent to the circle at a point C
onit. If ZBPT = 28°, then what is
the measure of AB.CP'?

C
Fcrai'li'?g' Y u?%g BPT = 28° §,
FT AT :

ar 2BCP &1 fha=T e
a) 62° b) 45°
c) 28° 31°

17
SSCCGL T1, 24 Aug 202153



Aﬂ’u’, QMD’rBJrgq__‘?o

ul. PT is tangent at point C on a

circle with centre O and AB is a
diameter. When BA is produced,
it meets PT at point P. If
£LBPC = 34°, then what is the
measure of LACP?
PT, ¥g 0 9 @& g9 & fig
C R} d@i=h 71 vaef ar § 3R
AB 3W gd & <49 §| BA
$I M d¢F W, 9§ PT &
g P W fAeaar 3 IR
£BPC =34° @, aY LACP &

a) 26° /{28°

c) 32° d) 29°

| ICAR, 2 Mar 2022, S3 18
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42. In a circle with centre O, PQR is a

tangent at the point Q on it. ABis a
chord in the circle parallel to the
tangent such that ZBQR = 70°.
What is the measure of LZAQB?

0 ¥g 9 UF g9 A, 3HF &g
Q WX T WT PQR &1 AB 9
F IeeT oA § N T X &
3 YR AR ¢ &F
ZBQR = 70° &1 LAQB # AT
FqT 872

A 40° b) 60°

c) 55° d) 35°

| SSCCGLT1, 7 Jun 2019 S# 19



4%. Points A and B are on a circle with
centre 0. PAM and PBN are tangents
to the circle at A and B respectively
from a point P outside the circle. Point
Q is on the major arc AB such that
£QAM = 58° and QBN = 50°, then
find the measure (in degrees) of
LAPB.

A 3 B %5 0 @ A W Fua

ﬁg%ﬂaaﬂ:wﬁgp q PAM
PBN , AU A 3R B W qa

a?r Fqo YETe ¥ O 99 AB W

g ¢ 59 worR Rug & @&

2QAM = 58° 3\ QBN =50° g

£APB T #TY (3 H) AT

a) 32 36

c) 30 d) 40

| SSCCGLT1, 17 Aug 2021 S3 | 20




W.In the given figure, triangle PQR is

P a right angled triangle at Q. If
2 PQ =35cm and QS = 28cm ,
QS: SpxSK al then what is the value of SR?
v s ar ¢ 3npfa F BT PR, Q W TF
D) AGA2% S S FAFOT § IR PQ = 35cm YT QS =
=5 25 O 28cmE @' SRFT AT FAT §7?
2 a) 35.33 5137.33
3 c)41.33 d) 43.33
7
N2 Q =
—=37.
3 3

| SSC CGL T2, 20 Feb 2018 | 21



us. A semi-circle is drawn with AB as
its diameter. From C, a point on

D AB, a line perpendicular to AB is
drawn meeting the
6 circumference of the semicircle
at D. Given that AC = 2 cm and
. CD = 6 cm, then area of the
Al c g B

semicircle (in sq. cm ) will be:
AT AB dTall U 3tgd Il
a2 I §] AB W Reud R figc @
DC:CH Th AB & THAFT Tdh @I o/l
xCB It & St rduga @t D W
T'—-Q_Q_W Fredt & ITRAC = 2 cm 3R CD =
2 6cm g o 3Igd FT AATFA(TN
I .. ) Rraem gem?
a) 32w %501: c) 100w
d) 81w e) undeterminable

| CAT 2006 | 22




u6. The chord of a circle is V3
times its radius. The angle
subtended by this chord at the
minor arc is K times the angle
subtended at the major arc.
What is the value of k?
gq 1 F$ far suh B F7
V3 aom @3 3w Sfar g@nr
JEAT X AT AT R,

9 §ATT T HIOT & K

IO §| K FT AT 9T F|
a)5 %2

1 1

23
CDS 18 Nov 2018



u]. A and B are two points on a circle
with centre O. AT is a tangent, such
that ZBAT = 45°. N is a point on
OA, such that BN = 10 cm. The
length of the median OM of the
ANOB: is:

% 0 arel U ga W A AR B &
fig &1 AT v wOe Y ¥, o
f% LBAT = 45°1 N, 0A W TH
fg 59 ywR & @ BN = 10 4.
ANOB & HAICIST OM H €S

T
a) 10v/2 cm b) 5v2 cm
c) 5vV3 cm ,d‘)//S cm

| SSC CHSL 10 Jul 2019 S1 | 24



43 . During a practice session in a stadium an athlete runs

H
\/
C

2y
L an
o

along a circular track and her performance is
observed by her coach standing at a point on the
circle and also by her physiotherapist standing at the
centre. The coach finds that she covers an angle of
72° in 1 min. What will be the angle covered by her in
1 second according to the measurement made by her
physiotherapist?

TH Rf3TH # & 3 §7 & R vydlle
JAFR ¢F X TadT § R 3uHT ygd 38F T ganr
99 & TH ﬁ?_.; W IR Fg & @ zus BN
anT &t @ Ser ¥ Fvg arar § B ag 1 e & 720
F FOT F Q@ FE gl BOANRRFTE g e aw
m$m1m#mmwmmaﬂw
F47 Qem?

a) It depends on the position of the coach on the

circular track.
b) 4. 8° c)1.2° /{2. 4°

25
SSCCHSL, 11 Jul 2019 51

o~




uq. Two circles with centers P and Q
intersect at B and C. A and D are
points on the circle with centers P
and Q respectively such that A, C &
D are collinear. If 2 APB =
130°% and 2 BQD = x° , then
value of x is

PTQFeal ard a1 g AgB T Cc W
yfaede #ia 3| g A 3k fg o
FHAR &g P T g Q dId gal W 34
yHR § & A, C& D TH & 3@ I §|
3R 2 APB = 130°,3R 2 BQD = x°
arx &1 A

a) 65 130

c) 195 d) 135

| SSC CGL, 21 Apr 2013 S2 | 26



0. In a circle with centre O, AD is a
diameter and AC is a chord. B is a
point on AC, such that BC =
5cm and 2Z0BA=60° . |If
42DOC = 60°, then what is the

length of radius of circle?
% O & W T gd #, AD U&F A
¥ 3k AC T® e §1 B ,AC W TH
fig & ¥ & Bc =5 @ 3k
£0BA = 60°1 I ~DOC = 60° &, ar
ga @ Brear @ dar$ frae 82
a)4 cm b) 3v/5 cm

V3 cm d)5cm

| CHSL 2018 | 27



5l. In a circle with centre O. AD is a
diameter and AC is a chord.
Point B is on AC such that
OB =7 cm and £0BA = 60°.
If £DOC = 60°, then what is
the length of BC (in cm)?

O ¥g 9 gd A, AD =W
¥ 3t Ac ST §] AC fag
BSWH YFR & fF OB=7cm
3k .0BA=60° @& 3fe
% 08=8C:= Tem Ewco:mocj +DOC =60° @, df BC #
TS (cm H) AT

a)5 %

c)9 d) 3.5

| SSC CPO, 25 Nov 2020 S2 | 28









52-D, E and F are the feet of the

perpendiculars from the vertices

A A, B and C, respectively, of a
triangle ABC. If angle BED and

Y E angle BFE (in degree) are 24 and
‘: 110 respectively, what is the
20 measure (in degree) of angle

M EBF?

T ST ABC H MY A, B
3 ¢ § A D, E 3 F AT

46X 66 %qﬁ%luﬁaﬁWBEosﬁT
2.0 | HIUT BFE (31U H) HAA: 24
3 110 8, @ HOT EBF H
6 D C_ AT (3 A) frdar grm?
a) 55 b) 67

c) 86 A a6

31
SSC CHSL 06 Aug 2021




53 If O is the circumcentre of a
triangle ABC lying inside the
triangle, then ZOBC +

£4BAC is equal to

39X 0 Ferer ABC &1 RFw B
IFE ﬁrsﬁr % 3eex ua ¢
a L0BC+ /BAC =?

Ao0° b) 60°

A
4
8 \j C c) 110° d) 120°

40BC = LOCB = 1§0-99

= %-%
p
<BAC-= 1_825: 2% - b Y%
2 3

L0B8C + LBAC:= 9Qo-2% £% = Go°

| SSC CGL 2015 T-2 | 32



sM. If the diagonals of a cyclic

@quadrilateral are equal, then
the quadrilateral is definitely a:
IR frdlt o Tqder & Rt
W ¥ A g IwW

299

a) Rhombus b) Square
c) Rectangle A Trapezium




5. In a cyclic quadrilateral ABCD,
AB = BC,AD = DC, £CAD =0,
then £ABC will be-

U WhIT TS ABCD H, AB =
BC,AD = DC, 2CAD = 0, | &R
39H LABC fFEs &Y ghem?

a) @ b)g

/20 d) 360

34



56.In the figure gz % =Z where 42DCQ =

@x £BPC =y and ADQC = z, then what
is the value of LPAQ?

e are R & afy 2=2=% Sl «DCo =
x,2.BPC = y 3iX ADQC—Z 8 ar LPAQ FT
AT 8-

a) 33° ,nf§g°

c) 39° d) 42°
P e Ly (2
Q 3: 4: &5
To+ 8a = (go (C:.chc cluad) Llet ackal values
ISa = (80 3 Ya So
Q= |2
D> LPAG® = (8o- (2q

= 180 -4y

R I




LAQC= £ ApB - %"
LA = (A (Common)

3 AA0OC ~ AAP8
» @c || P8

We can't éoa thot @ and C are
mid psints g0 QC # | PR
2

51. Let C be a point on a straight line AB.
@Circles are drawn with diameter AC

and AB. Let P be any point on the
circumference of the circle with
diameter AB. If AP meets the other
circle at Q, then

el Y@T AB F FW wE fig c 3 Ac IR
AB F S AAHT &I gd ol ST
I AB dT g9 W P 1§ g 8] 30
AP 9@ &1 fig Q W fAerar ¥ ar

QC | PB
b) QC is never parallel to PB

) QC=%PB
d) QC Il PB and QC = %PB

| SSCGD 2011 | 36



> LOPO = LOPR + LOPR

20 + 35
s5°

5%- PQRS is a cyclic quadrilateral with

center O. The ratio of ZPQR and
/PSR is 11:7. If PQ = QR, then
find LOPQ. .
PQRS, g O dq&¥ UH Ta H
ufy e TR agier Y

Q9

4PQR3-ﬁT £PSR &T 3eTq1d 11:7
3 af PQ=0QRrR % & .0PQ

AT AT
a) 56° M550
c) 62° d) 52°

| NTPC CBT-2, L6, 9-5-22 | 7
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